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<EFE Hio[2{22o| 7|1} offd
The origin of computer virus and its prevention

2|2 0| ZAFEH HIO|2{A= ‘EeQl HIO|H A QLT
The first computer virus is ‘Brain virus’.

O] HIO|2{ A= 1985 M7 | AEHO|A XS LIEHLIA £ USLICH
This virus first appeared in Pakistan in 1985.

Ot7 | AEHS| St T2 2i0y7t 7|7t Qe 2 IS SHO 2 EX|st= AtES 0
2p7F LEA SHSRACHD gLt

It is said that a programmer in Pakistan made the virus because he was upset
with the people illegally copying his program.

1 O|= CFot HIO|HASO| 7, L2 AEHS0| ZFE BHo[2{A 20| T|SHE gt
1 AL

After that, lots of viruses have appeared and many people have been suffering
\from computer viruses.
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Well, how can we prevent computer viruses? (=how can we protect our
computers from viruses?)

A, AtE o= HTEO]| HHO|2{A BHAIO| & QUO{OF gFL|Ct,
First, the computer should have Vaccine against computer viruses.

Jde| LAUo|| o HA HiO| A HAFS of{OF &L CY.
And you should scan your computer once a week.

Lot RE=OUS A= L2 BFA| ZHOLOF gFLCt,
Also you should never download unknown files.
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Notes

HHAEE : computer
HO|2A 9| : HIO|2{ A (virus) + -2| (marker; of)
7|92t 7|1 + -2 (marker; and)
of & : way of prevention
=Z|Eo i|i + -9|(marker; of)
HIO|2{A & © HIO|2{A + -=(marker; exclusion)
‘B2l Hf0|31£’|°=! L|Ct : E2Q! Hto[2{A + -QL|CHending(to be; declarative))
0| : this
19854 1 in 1985
I}t7 | AEHO[ A TIHZ [ AEL + -Of A (marker; at/in)
212 : for the first time
LIEFLEA & }EL T : LHEH + -A| =/(CH) (modal aux.(to become))+ -%U(pre-
ending(past tense)) + -gl—l Ct(ending(declarative))
Ot7 | AR« IbF | AEL + -2 (marker; of)
St :one
D27t 222 + -7H(subjective marker)
At2172t 2 42| + -7}(subjective marker)
OL= : OHS(CH(2FE(2 deleted)) + -L (ending(relative clause; noun modifying))
D2 HE 23 + -S(objective marker)
=HOZ !llegally 2% + -2Z(marker; by)
A |5t= : EA|SHEL + -=(ending(relative clause; noun modifying))
AtZHS R0 : AFZS(AF + -S(plural)) + W20 (because of)
SF7F LEA 3t f(Et) + -OFA (connective; because)
DSACHLD SL(Ct: 25 () + -RA(pre-ending(past tense)) + -CiaL SH(E)
(quotative(declarative)) + -sL|CHending(declarative))
O|% : after that
QFst : CHFSHCTY) + - L (ending(relative clauses; noun modifying))
0| : B}O[2{A + -S(plural) + -O|(subjective marker)
21€h  + -R(pre-ending(past tense)) + -1(connective; and)




-
Oll.'D_

: oK} + -2(ending(relative clause; noun modifying))
0| : A2t + -=(plural) + -O|(subjective marker)
A0 ASUCH: TISHE Z(Eh) + -2 A(CH(modal aux.(to be -ing) + -SLCt
(ending(declarative)
JFECHA  then
HiO|2AE : HIO|2{A + -E(objective marker)
O1EA
ofllst £ QUSWR7? oSt} + -2 4 U(EhH(modal aux.(can/to be able)) + -27t2?
(ending(for guessing; interrogative)
™2 : most of all
AtE35H= @ AFESHETY} + -=(ending(relative clause; noun modifying))
ZHFE{O]| : AHE] + -Of (marker; at/in)
BHAIO| : BHAl + -O|(subjective marker)
2 make sure
QU0{of S|t : RU(CH) + -0{0F SHCF) + -= L|Ct(modal aux.(must) ending(declarative))
Je2[1 :and
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HAIS: 2 M + -S(objective marker)
Of gtLICt : sHCt) + -040f SH(CF) (modal aux.(must)) + -u L|CH(ending(declarative))

£35St also

2= 22(0hH + -=(ending(relative clause; noun modifying))
o2 It + -2(marker; comparison)
A2 : never
Lijd 22| Zrotof §HLCt : L4 BHEh + -Z| (T} (modal aux.(negation; forbidden)) + -OfOF
SHCH (modal aux.(must)) + -& L|CHending(declarative))
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Conversation

p

=/ AFE 1 YCPHA? O2H $H04?
Jun-gi: | heard that your computer was broken. Is it OK?

ML|: &, O|A| MOt ZFE Hio|2{A U Z0|%0. S 25t A=t AREO| T Y=
o 2L o 310,

Sunny: Well, it's OK now. It was because of a computer virus.| had all the
important data stored on my computer, and it could have been a disaster.

oI

=7|: CHHo|C, | HAO| BHO[2 A AL QF SHO{?
Jun-gi: Good. But did you not scan your computer for viruses every now and
then?

ML FZEOFA 2 OF =0, O|A| S8 At SHOFNO]. AFE B4l Z=
of 23 Z 3 7.

Sunny: | didn’t because it was annoying, but | will do it often from now on.
Please recommend me a good computer vaccine program.
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Z7|: Lhs 512 | E V3 Ah| MO} QHHAGTA AO|E0) 4B Ljz| BrS 4 o],
Jun-gi: | am using Korean program V3, and it's good. You can download it from
Ahnlab website.

ML 2h? OE"D|-O|:?
Sunny: Can 1? How much is it?

=7 F=0F ot K7t =5 He{1 V3E 0= A oL A=, D22 92l 27| ARFH
O| HIO|HAE 2|10 LS OHSQACHL TS ARSI A LR 7] A|R3IC H.
Jun-gi: It's free. Cheol-soo Ahn did not make V3 to make money. He made the
vaccine to fix his own computer from a virus and then started distributing it to

people in need [of the vaccine].

ML|: OF, LI Of7| &2 A Q0. 2 At 22l AFHCHHAL?
Sunny: Oh, | heard of his story before. He was originally a doctor, wasn’'t he?
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Notes

ZEE : computer
D2 SCHHA? - 02 LT + - (pre-ending(past tense)) + -CH3M?(ending(for
confirming €connective))
O{EH =0 ? : how did it go? HEH|(how) + SHO{?(=[(CH +  -RA(pre-ending(past-tense))
+ -0{?(ending(interrogative))
OlA| : now
BHRFO} - MREH(CH) + -Of(ending(plain style; declarative))
ZIFE] BIo|2{A Ti20|RU0] : AFE] BIO|ZA + WZ 0| A0 (T2 (because of) + O|(TH)(to be)
+ - (pre-ending(past-tense)) + -0{(ending(declarative))
225t 225HC} + -L (ending(relative clause; noun modifying))
A2t At=2 + -7H(subjective marker)
AFEOf : BFE + -Oi[(marker; in)

QA= - ACH + -} (pre-ending(past tense)) + -=4| (connective; background situation)
L}

3l Lo 2 LKCH + -2 ¥SHCTH) (almost/ nearly) + -%.(pre-ending(past tense)) +
-0 endmg(plam style declarative))

CHO|Ct : ki (luck) + -O|Ct(ending(to be; exclamatory))

J21d| : by the way

HA0 : A+ -Of|(marker; at)

AL checkup

Ot 3HO{? : OH(not) + -SH(CH + - (pre-ending(past tense)) + -0?(ending(plain style;
interrogative))

FZEOLA : FZE(CH + -OfM (connective: because)

ZF - well, often

ot gH=0| - QH(not) + -SHC}) + - (pre-ending(past tense)) + -=0l(connective: contrast)
O|A|SE] @ OfA| + -FE{(marker; from)

At : often

SHOFNO] = SH(CF) + -00F0 (ending(for decision))

BHAI L2 2K : vaccine program

:Z(Ch) + -2(ending(relative clause; noun modifying)) + 7{(something)

™ : A(ChH + -2H(connective; if, when)

= ol F 2™ + & + 5K + -0 (-0 =(Ch(modal aux.(to do for someone)) + -0
g(plam style; imperative)

. Lt + -=(marker; comparison)

A& : Korean product

< o - @\ xO aify
Wmmawmm
}N r _\d

ChH + -=8l(connective; background situation)
ZH(CH + -OH(ending(plain style; declarative))
—_rLi Ahn Lab

ALO|E + -Of(marker; at/in)
(':f) + -B(connective; if, when)
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LH2d BES 4= A0] @ L2 BHCH + -8 £ (ChH(modal aux.(can/ to be able to)) + -0
(endlng(plaln style; declarative)

J2h? : s it?
40tof? : Hot(how much )+ -OF?(ending(to be; plain style; interrogative))
2=0F ZEZ(free of charge) + -Of(ending(to be; plain style; declarative))

OtM s M7t Qb4 K| + -Z}(subjective marker)
=2 " : =8 Y(C}) + -2{22(connective; in order to)
V3E& : V3 + -E(objective marker)
Ot= : 0= (CH(2H=(2 deleted)) + - © (ending(relative clause; noun modifying))
A OtL|AHE: Z¢ (Al(contracted form of Z4 +-0[)) + -O| OtL|(Ct)(not to be) + -HE
(ending(because; €connective))
=2 A& + -Z(marker; exclusion)
42l : originally
At7| - oneself
AFEQ 9“‘51 + -2|(marker; of)
HIO|ZHAE : HIO|2{A + -E(objective marker)
L = A JJI( b + -2412(connective; in order to)
HHAIS : BHAL + -S(objective marker)
Ct (ChH + -ACt7H(connective; reversal)
HCH + - (ending(relative clause; noun modifying))
F2HSOf|A| : At2E + -S(plural) + -0l Al (marker; to someone)
LIS 7] A 2H3HCY: Lf-“rivz—(':f) + -7| A|&5tCHmodal aux.(to start)) + -%(pre-ending(past
tense))+ -CH(contracted form of -Ct1! sff(quotative; declarative))
LI& @ Lt + - (marker; also)
OH7| : abbreviation of ‘0|0F7[", story
=2 A4 AN 1 =(ChH(S(c irregular)) + -2 A A(ChH(modal aux.(to experience)) + -0f
(ending(plain style; declarative))
2 At2h: he, the person
OIAHCHHAM? ¢ QA + -Rd(pre-ending(past tense)) + -CtHA]?(ending(for confirming;
< connective))
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© Comprehension

1. MU dRE= o[ A 20 2

2. V3HiA T2 M-S L 2oqH
Ct

© Vocabulary

HBE| 22 0f3]

2TE] Hjo[2A

o2
HHA|
1

computer virus
. program

. vaccine

Lied 8+Ct : to download
ZAFSICE : to examine, checkup
N ZLICE : to break down
£2|3IC} : to fix, to repair

2|3 :and

J2iAM :so

3| : but, by the way
™|t however

2447t : therefore

124 : then

5t also, in addition, as well

. Exercise

Yo L.

(T/F)

== Woralie. (T/F)

por

T B

H : once

& twice

Ml & : three times
4l & : four times
CHA H : five times
At : often

7t& : sometimes

4n rt

2. HIO|2AS oSt 22 = TAS () OHMIR.
1) ARl 2) Wi=d A 3) 2|54 [ 2]
3. A= 1 AOIES AjF E2slle. stRo A () S 7t8

1) 2)—.-_- 3) ¥

4. 2o A=7F AREO| G A0 () FREZILE WO,
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© Explanations

-CIHA2?
CHE AN S2 Z0[ AR RAR| JTHO||AH| 2l T AHESh= HE O[Tt

HHE| DI
1 AP e 9.|A|-9'1I:|-ﬁk|7
2% 0280 BCIRIAR

o wAFZEto|

1. -CHHAML?

(1) AEA=E “CIHAM 2t 211, Atz 0j7H0| 2222 Y W - L CHA 22 Zesta,
A222 g Ui -=CHA 2t 26t

(2) SAte BRAS| YL /WA A 2’2 FENZ ZEBICE

(3) “CHRIAM (2)'E TR 5t3M(2) 7} 201E LR F2 TO0{0fA 2QITt J21c| oferof
et ‘U7 A 3RS E oA 2L L2 D[ [CHHEM 7S] o0& T2 0]
LI Bld7Hel= 2= @2 & 7| 20 2 mf A%Z F2ls|AM AHEsHOF STt

YAF + 20

I BAZEOE Lo ARI0[Lt O] 77t ECt 0| 2= FAteL WEO0'= E[0f 2L} FALZ} o
HEALL SAIZ O|RE LBt W= 7| 209 HEHE AESHH.

HTE BiO|2{A W20l W2 AFES0[ OIsHE 21 AS LI
Al 20 AEqA H*Oh.

o2 Hi20f B0l KA.

o wAFZEto|

1. YAl + 20|
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1.-22{1/-31n

(1) -23{1/34 0’ B8AleH: ZEre 4 glct.

(2) SAl| 0j7t0] 2202 BY W= {7t £1 2202 BY M= -2 17t 2=
C 718 -2 2 A= Z2E Y0 [EF0] 34 2% 43 1780 A~ e} -
=22 0 217t Ye| 40|22 <2 WS HEO|R AECIT HASD oL Y

Al 2|3H{OF STt

» Exercise
1. AT ML, OA| BO[ OFTICHA? 3.A B& Y Mo 2807
B: B:
1) &, 234 o{C{ollM SU01? 1) 2¢ g #Ho .
2) &, CHeo|ct, 2) AFE 1221 g=Ha.
3) &, O{EA| ofd3ioi? 3) Ui 22| Zotorsie
[E1] (&2 ]
2.A: e osie 2 7t01Q? 4. A ARIZ A2t O[Ok |5t D
B: o= 0|2 HiROL.
1) Yo|HES. B: 4, A& S0a.
2) d MR,
3) golynta. 1) A OfR}2I17F oL e.
[E2] 2) ot=10{Z ot HiQ| EAM|2.
3) O{A[2IF7} St=t ALEO[2tHAM 7.
[E3]
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